
Time: 30 Minutes Paper Science 4 (T-6) Total Marks: 25

5th Month, 2nd Week, 6th Day Test and Revision syllabus of the 2nd Week

SECTION - I
Q.No.1 Encircle the correct answer from the following choices. (10×1=10)


(i) Which of the following are used as a fuel?


(a) Mineral  (b) Natural gas 
(c) Air  (d) Both a & b  b  a

(ii) Minerals are used to make: 
(a) wires  (b) coins  (c) utensils  (d) all 

(iii) In which province of Pakistan the largest natural forest is located?


(a) Punjab  (b) Sindh  (c) KPK  (d) Balochistan 

(iv) Every year the World Soil Day is celebrated on: 
(a) 5 October  5 (b) 5 November  5

(c) 5 December  5 (d) 5 August  5

(v) The second largest mine of natural salt in the world is located in:


(a) India   (b) Pakistan  (c) China  (d) America 

(vi) Which of the following is produced from crude oil?


(a) Petrol  (b) Salt  (c) Tarcoal  (d) Both a,b a,b 

(vii) Forests cover ________ % of the total area of Pakistan.


(a) 2.5 (b) 4.3 (c) 5.2 (d) 7.4

(viii) We generate electricity by burning: 
(a) corn oil  (b) soybean oil 
(c) crude oil   (d) coconut oil 

(ix) Dinosaurs were _______like giant animals.

 _______ 
(a) Dog  (b) Lizard  (c) Lion  (d) Elephant 

(x) Which of the following mineral is used as fuel?


(a) Silver  (b) Gold  (c) Coal  (d) Salt 

SECTION  II

Q.No.1 Write short answers (6×2=12) 
(i) Write down the importance of soil? 
(ii) What is the importance of forests? 
(iii) Write down the uses of natural gas. 
(iv) Where do the dead animals skeleton come from? 
(v) What is soil? 
(vi) Define forest. 

SECTION  III

Q.No.1 Write the difference between natural oil and natural gas. (3 )


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